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CBoucTBa
Rlna nobbix AEeNCTBUTE/IbHbBIX YNCEN:

1). Va2 =|a| 2).Va2" = |a"|

3).vV/a'B=+a'+vB, roe a=20us=0
VaBc=+/a - /B * /¢, ????

4).\J rarea=20ue>0




Hanpumep

i). V(-7,3)2=1-7,3]=7,3

J1,22 = |1,2] =1,2
J1,24 = 1,22 = 1,44
V210 = 227




Hanpumep

2). /0,81-225 =/0,81-+225 =
=0,9-15= 13,5

J25:64:0,36 =25 - V64 - /0,36 =
=5:-8-0,6=40-0,6 =777
HaiiauTe 3HaueHMe BbipakeHns: V18 - V2 =




Hanpumep
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V24
Hangute 3HayeHue BblPpadXXEHUNA. -

V150




PaboTtaem no y4ebHuUKY:
Ne 497, 499(4erT)

3aJaHunst BbINONTHAEM B TETPAOsiX, Ha
NMPOBEPKY HE BbIChINaeM




